248 | Geometric Growth Patterns Name:
B
What is the missing term in the sequence?
81 96
92 100
B
What is the missing term in the sequence?
8 6
11 7
[=]
What is the missing term in the sequence?
1, ,4,8,16
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248 | Geometric Growth Patterns Name:
[#]
What is the missing term in the sequence?
9 8
10 7
[#5]
What is the missing term in the sequence?
1 y 2 ’ 41 8 y
B
What is the missing term in the sequence?
1,3,9, , 81
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248 | Geometric Growth Patterns Name:
[]
What is the missing term in the sequence?
1,2, , 8,16
B
What is the missing term in the sequence?
1, , 9, 27,81
[#]
What is the missing term in the sequence?
1,7,9,27,81
6 3
5 2
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248 | Geometric Growth Patterns

Name:

#10

What is the missing term in the sequence?
1,2,4,7,16

10 6

#11

What is the missing term in the sequence?

1,3,9, , 81

#12

What is the missing term in the sequence?

1,2,7,8,16

@Teach Me CC.4.105

TeachMe, Inc. ©2025 All rights reserved.

Page 4 of 4



TeachMe, Inc. ©2025 All rights reserved.

248 | Geometric Growth Patterns Answer Key
Question Answer
#1 81
#2 8
#3 2
#4 8
#5 16
#6 27
#7 4
#8 3
#9 3
#10 8
#11 27
#12 4
[®)TeachMe CC.4.105



